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26 00000 (Ito formula)

B(t)O (F)-Brown 000000000000000000

X(t) = X(0) +/0 b(s,w)ds Jr/o a(s,w)dB(s) (2.12)

0000 a(t,w), b(t,w) 0000 (F)-000000000000000
T>00000

T
/ [b(s,w)|ds < o0 a.s. (2.13)
0
T
/ la(s,w)|?ds < oo a.s. (2.14)
0

gbobooboooboobooboooboooooboooboooooboooon
obooobOobooooboobooonog

00 217 M(t) 0000 (F)-O00000DO00K() O (F)-000O
goo
t T
M(t):/ K(s)ds 00O / |K(s)|ds < o0 a.s.,
0 0
ggd
M@#)=0 Vt<T, a.s.

good

000000000000 (??7)0000000000000O0O0DOO

T

DD/ |[K(s)[ds < NOOOOO NOOOOOOOOOOOOOOOO
0

Uit>s0oog

E[(M(t)— M(s))*] = E[M(t)>—=2M(t)M(s)+ M(s)’]
E[M(t)M(s)] = E[M(s)E[M(t)|F.]] = E[M(s)?]

goo
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O0oo0dodo=t <t <...<t,=t000 [0,¢)) 000000000
MO)=0000000

E[M®)?] = E[M®)?-M(0)] => E[M(ti1)* - M(t:)?]

< E su M i M z
< Ogiggil\ (tiv1) |Z| +1) — Mt )|]
< E| sup [M(tit1) |/ |d81
0<i<n—1
00000000 2N20000 sup  |M(ti1)—M(t;)| OOM(t) O [0,

0<i<n—1
gooooooooooooooon

ogringag(q' i+1 = il

0o00o00o0dD esw 0000 0O0O0OOO0ODOOODOODOOOODOO
Lebesgue 000 D0O0OO0OOOO

E| sup |M(tit1) |/ |d31 -0

0<i<n—1

0000ooooO0og M(t)=0, es. 00000
gbooobooboooobobooogoonN>10000

min{t > 0; [7|K(s)|ds > N}
™ =
N o0, 00000000000

00007y — o0 (N—o00o0000Doob 0000000000 MYN(t)=
M(tATy) 0O (F)-0000000000

N = o S S = ‘ S S S
M(ﬂié K(s)d Ammﬂmﬁd

goooog
WWMS/ K (s)|ds < N
0
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000000000000 MY(#) =0es. 00000 ¢t0000000
N—o>oo0OOOODODOO Mt)=0as. 00000 ¢+0000000 OM(t)
000000 M(t)=0Vte[0,t] as. 0000

00 2.8 (00000)f0 €c20000000(?2)00000 X(¢) O
00000000 as. 000000

PR = 1K)+ [ {0 (X060 + gals s (o) f s
+ /a(s,w)f'(X(s))dB(s) (2.15)

0 2.2 f(z) = 22,X(t) = B(t) 00 000000000000/ (z) =
2, f"(z) =200 (?2)00000a(t)=1,b() =00000
2= 2 tl S t S S) = t S S
B(t)? = B(0) +/ x 2d +/ 2B(s)dB(s) t+2/0 B(s)dB(s)

0 2 0

000000 B(t)?—-+0000000000000

¢
2/B(s)dB(s)
0
gbooobooboooobooon

gbobobooooooboobobobobobobobo 10000
gbooobooooboobo

00 2.19 f:[0,00)xR*— RO C2-0000000R*" 0000000
00 X(t) O
d t t
Xj(t):Xj(0)+Z/ aj,k(s,w)dBk(sH/ b;(s,w)ds
k=170 0

00000000000000aj.(tw), bj(t,w) 00000 as 0000
00000000000

¢ ¢
/ ajr(s,w)?ds < oo, / |6 (s,w)|ds < oo
0 0
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000 B;(t),j=1,2,...,d 0000 Brown 00000000000

Fex@) = 10X+ [ s X(s)as
0

n d t
15 3) 3 (LRSS TSI NERETAS

O00O00aa € £2, 30000 (F)-000000000000000
flz,y) =2y 000000D0000D0000000 ??20 d=1,n=2
000000000000

XY (t) = X(0)Y(0) + /0 (X(s)a(s) + Y(s)a(s))dB(s)

+/O (X(S)B(S)—i—Y(s)b(s))ds—|—/0 a(s)a(s)ds

0000000 X, YO (/)-O00ODO0OO0D00O00000O000b=8=00
goo

X(t)Y(t)—/O a(s)a(s)ds

000 (FR)-000O0O0O0O0O0O0O0OO



